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No. of Questions : 50 B
HEE @ e : 50

'rimc_:znoun : .~ Full Marks : 200
qHE ;2 ¥ | g o gurts : 200
Note: (1} This Question Booklet contains 40.Mu.'1tziple Choice Questions

@

(3)

followed by 10 Short Answer Questlons
wnﬁgﬁﬂwﬁma@ﬁ%amagaﬁﬂuuﬁﬁl

Attempt as many MCQs as you can. Each MCQ carries 3 (Three)
marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one.

eﬁma@ﬁwnﬁﬁwaﬂ%aﬂmaﬁlma@ﬁw
g 3 (fM) ofet & B yd% T IR B R 1 (T6) B
ma@mwﬁzﬁeﬁﬁﬁﬁnﬂmmﬁmlaﬁ
WW%WWW@W%WW
8t, & Fraees @d I

Answer only 8 Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered ‘in 180-200 words.
Blank B (Five) pages attached with this booklet shall only be
used for the purpose. Answer each questmn on separate page,
after wntmg Question No.

daw & (dfe) agecdg 9w & S ¥ | 9% 999 16 (HIWE)
St F1 & aem I I 150-200 SR & e B wnfda
Tod Y 56 gk § @7 ge @R 5 (df) gt & @ gwam
ST B | T% U9 W ICK UF ¢ T |, U HoEAar s
IS BN -

3 P.T.O.
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Who is the Commerce Minister of India ? -
(1) M. Venkaiah Naidu _ (2) Dharmendra Pra¢han

(3) Nirmala Sitharaman (4) Piyush Goyal
I & Aty | A §?

(1) w7 &&=m g, 2) gf= gum
(3) FeT wemmer (4) 9oy Mg
Who gave the theory of surplus value ? -
(1) Max Waber (2} Karl Marx
(3) Kant (4) Durkheim
SfoReT 979 @ Ryar Reas Rar ?

(1) f=g A9Y (2) et et
(3) @i (4) gFdtm |

Who wrote the book "An Enquiry into the Nature and Causcsiof Wealth
of Nations" ?

(1) Adam Smith (2) Alfred Marshall
(3) A.C. Pigou (4) L. Robbins

“mmﬁa&%mwmmm%ﬁ"m
IR & AEH Pry ¥ ?

(1) o1 ey - (2) oTEBs Aefer

3) T dp 4) ud. g

Which one of the following is the period of 12* Five Year Plan ?
(1) 2012 -2017 (2) 2011- 2016 ’
(3) 2013- 2018 (4) 2010- 2015
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Arefad & @ Pre-dt ol 1odt deEdty Ao @ ¥ ?

(1) 2012 ® 2017 (2) 20119 2016

(3) 20139 2018 (4) 20109 2015

Who is regarded as the Father of Sociology ?

(1) Auguste Comte _ (2) Herbert Spencer .
(3) Emile Durkheim (4) Max Waber
HATARTES & S fpd "1 ST ® 7

(1) ST FH= (2) BT WX

(3) FARS WM @) ftim A=

Who is the author of "Modernization of Indian Traditions" ?
(1) A.R. Desai (2) Yogendra Singh
(3) T,K. Oommen (4) Andre Beteille
“WW?@H?&W”%W#%?

(1) T. AR. 34 (2) arrx s

(3 &. F. HA (4) o= R

07 Who gave the concept of "Sanskritization"?

- (1) T.K. Oommen ~ (2) AR Desai |
{3) M.N. Sreenivas (4) Dipankar Gupta
T (ﬁr@ﬁfaw)aﬁawwrrﬁmﬁﬁr?

) A H. S (2) T.STR. XA
(@) uwH. uH. sifEE (4) RuiwmT =

5 P.T.O.
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11.

Who gave the theory of 'circulation of elites' ?

(1} Spencer (2) Kingsley Davis

(3) Max Waber (4) Pareto

‘AT ARy @ Ry Freet Ry ?

(1) "3 (2) R 3R

(3) A9 AT @ _

The scientific study of human experience and behaviour is qallcd
(1) Anthropology (2) Sociology

(3) Psychology (4) Political Scnence
AEE ST T e e oS FHEN ST %
(1) AT (2) SR '
(3) e (4) TSTIRY sme

Which one of the following is not associated with Panchayam Raj in
India ? :

(1} Asoka Mehta Committee

(2) Dinesh Goswami Committee
(3) L.M. Sienghvi Committee

(4) Balwant Ray Mehta Committee

(1) 9= Aear afdfy (2) AT Trarh gffy
(3) wF.uH.Rywer afafy (4) IeE=r ¥ Azar qiyfy
The sum of deviations of individual observations is zero from +
(1) Mode (2) Median

(3) Geometric Mean (4) Arithmetic Mean
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12.

13.

14

ST SRR & Rreet e anT g e ¥

(1) «&H 4 - (2) wfaar |

(3) e Ared |/ (4) TRl =@reF |
Data originally collected for an investigation are know as-
[1] Primary Data (2) Secondary Data

(3) Original Data (4) Cross Section Data
@Wm%mmmmawmmﬁ%—
(1) ST @5 G ) Taha® w5

(3) #tﬁrcﬁ qHh o (4) TREIHIE THE

Standard deviation is always computed from-

(1} Mean ' (2) Median

(3) Mode (4) Range
T e wla afeRm B o 8-

(1) A E| (2) “Hftge am
(3) SETw (4) R @
" Algebraic sum of deviations from mean is-

(1) Positive (2) Negative
(3) Zero (4) Unity
fﬂ!ﬂﬂi@mﬂ'&ﬁaﬁﬁaﬁfaﬂwﬁ?ﬂﬂwm%ﬂ
(1) G (2) TS
FORE (4) FBE

7 P.T.O.
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15.

16.

17.

18'

When two regression lines intersect each other at 90° anglef, the co-
efficient X of Y correlation will be-

(1) Positive {(2) Negative

(3) Zero | (4) Unity ;
mﬁn?ﬁwmq?@&qm@%qﬁgoo%lmwmﬁm X
T Y F e e o @ -

(1) o/ (2) FoTeTR

G = (4) g

In the use of perfect correlation-

T GEEE # qam & -
(1) bxy = byx - (2) bxy=1/byx

' (3) bxy=byx=0 - (4) bxyxbyx=0

In a binomial distribution the third mioment is -

fags e = gefie ompof & -
(1) npq () pa(q-p)

(3) npq(q-p) (4) npq(q + p)

In the case of normal distribution B, is-

(1) Zero (2) Less than 3
3) 3 (4) Greater than 3
HOMrT S & Refy & p, ey @ -

(1) = (2) 3 9 %y

(3) 3 (4) 3 9 fep
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19.

' 20.

21,

22,

‘Analysis of variance technique was developed by :

(1) Gosset (2). Karl Pearson

(3) R.A. Fisher (4) De Moivre

qEToT FIsAEeT # g faeiad & T8 -

(1) e 7= 2) & REET axr
(3) &Ro Wo fHeR &R 4) & AR &

Chi-square test should not be applied if N is less than :

mé—aﬁa“fawnﬁﬂﬂﬁmar%q,ﬁquﬁ,ﬁW%-
(1) 35 (2) 10 (3) 50 (4) 100

‘A caption means-

(1) Title of the table (2) Heading of a column
(3) Title of a row (4) Heading of source
e =1 o1 B -
(1) deeft & sids (2) @M @ s
(3) dfRT @ sfien : (4) QT @1 o
Paasche's index number is based on-
(1) Current year quantity (2) Base year quantity
'(3) Average of the two (4) Median of the two

qrSY T gEdhih e 8 -

(1) =g ay W AE (2) ofET 9§ H AT

(3) AT @1 NG (4) . =T @ witAeH

9 PGT.O'
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23.

24,

25.

26.

The consumer will be in equilibrium, when-

IUdRT T d 8, se-

MUx _ Px MUx _ Px
0 e @ e
MUy Py MUy Py
MUx _ Px MUx _ Py
B Moy By 4 MUy " Px

The demand curve for Giffen good will be- :
(1) Horizontal (2) Falling downward to the right
(3) Bending backward to the left (4) Rising upward to the right

Mt qarelt @1 \i-am -
(1) &frs (2) mﬁeﬁrﬂ%ﬁmgan
(3) I R NS Frrem gam (4 mﬁaﬁtmmg@n

For a normal good, the slope of the price consumption curvc is -

(1) Negative (2) Vertical

(3) Backward (4) Positive

T A A B RIT B S YT @ e 8-
(1) =TS (2) oTfg

(3) tﬂ% ™ AR (4) GHS

If the pnce elasticity of demand is high, the marginal revenue wnll be-
(1} Positive {2) Negative

(3) Zero (4) Unity
%ﬁ'mmmﬁw,mmmm-
(1) Y-THEH o (2) RUTH

@) T | (4) g

10
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27

28.

29.

30.

Given the demand function Q = 600 - 4yp, if the price of a good is Rs
100, then the price elasticity of demand will be ?

AT T Q = 600 - 4pﬁm€tﬁwuﬁaﬁaaaﬁqa100m%
& SEE diT @ W @ adr B 7 ‘

1 1 (2) 0.6 3) -2 @ 0

The elasticity of factor substitution according to the Cobb-Douglas
production function is -

(1) Infinite (2) Zero
(3) Unity (4) Positive

W-WWW%WKWa&@a%—

(1) o= @ =

3) THE (4) GERHES

The cost of next best alternative is known as-

(1) Cost of production (2) Physical cost

(3) Real cost (4) Opportunity cost
mﬂﬁﬁqﬁm%@qﬁsﬁwmﬁ% 98 B-
(1) SR AN (2) s dFTET

(3) arEfEas A (4) STEET AF

Which one of the following determines the pattern of foreign trade as
per Heckscher Ohlin trade model ?

(1) Preference similarity

(2) Technological advancement

(3) Transportcost

(4) Availability of natural endowments

11 P.T.O.
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31.

32.

Wmﬂwm%mﬁwﬂﬁﬁﬁmﬁ%ﬁﬂ
MR Sl d=r Prafe ey & 7

(1) =8gar 3 gErEET (2) e eify

(3) ImmTAE ST (4) n@ﬁmmﬁfaﬁrm

Balance of payments includes-

(1) Visible trade

(2) Invisible trade

(3) Both visible and invisible trades
(4) Inflow and outflow of resourees

T e & afafie © -

(1) T99 =R

(2) g™ MR

B) 399 T gy =R It

(4) HEHEl W o wd afeetae

Which one of the following is not the assumption of comparaﬁvc cost
theory of international trade ? :

(1) Labour is the only factor of production
(2) Constant cost condition operates
(3) Constant state of technology exists

(3) THirE & Refy Rew veeht &
(4) Al A off oRadsher o &

12
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33. Match list I with list II and select the correct answ'e'_r using the Codeﬁ

List I List I1 |
(1) Rybczinski Theorem (A) The effect of tariffs on factor
prices -
(2) Metzler effect (B) The effect of factor growth

on production and trade
(3) Stolper Samuelson Theorem (C) The effect of tariffson
domestic prices '
(4) Immiserising growth (D) The effect of growth on terms
‘ of trade
Codes:
1.1-(B), 1I-(C), II-(a), IV-(D)
2.1-(D), 1I-(C), 1I-(A), IV-(B)
3.1-(D), 1I-(4), 1I-(C), IV~(B)
4.1-(B), 1I-(A), 1I-(C), IV-(D)
geh 1 3l @ AR AT quT FT B TAT FD T S
CARCEE] :

-1 -1
(1) Rafer= &g (A) G AT 9 qYTH B
‘ SEIC] -
(2) TS g9 (B) & gfx @ ST W

YR R A9
(3) I JrgETaT 574 (C) =Y FEEl W IYTH B
geE

(4) s € (D) =HIR @ st 9} g A

ﬁﬁaz

1. I-(B), 1I-(C), II-(A), IV-(D)
2. 1-D), II-(C), 1I-(A), IV-(B)
3.1-(D), 1I-(4), 1I-(C), IV-(B)

4. 1-(B), 1I-{A), II-(C), IV-(D)

13 P.T.O.
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35.

List- I List-1
(1} Law of Absolute Advantage (A)  Leontief
(@) Factor Proportion and Trade (B)  Marshall
(3) Offer curves (C) Adam Smith
(4)  Opportunity cost (D) Haberler
Codes: | ' j

L. (&), 1I-(C), m-(B), 1v-(D)
2.1C), I-(A), HI-(B), Iv-(D)
3.I-(A), 1I-(C), 1I-(D), IV-(B)
4.1-(C), I-(A), 1-(D), 1v-(B)

gH- 1 | g -

(1) e @15 & Rysr (A) e
() 9T STyuRT o =R (B) =nefw
@) W& T | (C) oty fesey

(4) SEET AT (D) BETER
qe: |
1. 1-(4), 11-(0), 1), Iv-()

2.1-(C), II-(A), II-(B), IV-(D)

3.1-4), I-(C), m-(), Iv-B)

4.1-(C), 1I-(A), mI1-D), Iv-(B)

The tariff which maximises economic wélfare is called -

(1) Protective tariff (2) Discriminatory tariff .
(3) Non- discriminatory tariff (4) Optimum tariff :

14
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wﬁ%wﬁmﬁmm% HEl ST ¥ -

(1) TS g9 (2) Frdrers uges
(3) I Rrd=ers gyes (4) TR AYFH
Current account of balance of payments consists of-
- (1) Trade in goods (2) Trade in service
. (3) Foreign investment (4) Transfer payments

3.

L (i), (i) and (i)

2. (ii), (iii) and (iv)

3. (i), (i) and (iv)

4. (i), (i) and (iv)

W 6T # ARl @ner et sear -

(1) gt ¥ R (2) Qerelt # =9I
- (8) faReht R (4) &R YR
L), () oM (i)

(i), (iii) MR (iv)

: 2.
3 ), @) R (iv)
4

), (i) MR (iv)

Demonstration effect means -

(1) Effect of advertisement

(2) Initating effect of consumption
(3) Effect of entertainment

(4) Effect of an experiment

&y g oot § - |
(1) R &1 geeg (2) STHRT & FIIHIT H THAG
(B) FHARET B AT (4) &R W g

1 5 ) PoT-Oo
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39.
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Which one of the following pairs of Economists and doctrmcs they
edvocated is correctly matched ?

(1) A.W. Lewis : Big push Theory

(2) A.O. Hirschman : Strategy of unbalanced growth
(3) Rosenstein Rodan : Stages of Economice growth

(4) W.W. Rostow : Theory of Development with unlimited supphes of
Labour :

ﬁwﬁ@tﬁmaﬂiﬂmﬁ@aﬂ%mwmaﬁrmﬂﬁ
w7 § gt 8 7

(1) T. =Y. g : &9 € & S

(2) To 3o &HAT : aq-égi’aaﬁqﬁaaﬁwﬁﬁr

(3) ATEH AT : i wafa @ oTaead :

(4) T, T=Y. €A : a@ﬁamaﬁgﬁwmwm

Consider the followmg statements : |

Accordmg to Joan Robmson, 'golden age' refers toa sxtuauon where-
(1) There is full employment at a high standard of 11v1ng
(2) There is full utilization of capacity

(3) The rate of growth of population is higher than the rat.e of growth
of the economy

(4) The per capita income increases at an increasing rate
Which of the above statements are correct ?
Codes:
1.1II and IV
2.1 and IV
3.1 and I
4.1 and 1l

16
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Frafefen weet o fremx s
SIFT R & sTgee ‘@t g o Ry § wrafug § el
(1) S== @F-9e7 € R qf Jorme @ & |
(2) - mmasrgvfnﬁvs’rm%
(3) mﬁmﬁwﬁmqﬁaﬁwwm%

(4) sy =R o sredht B @ wad R
SUURT HIT T A T 7
Fe: |
1. 1m R v
2.1 R v
3.1 &R m
4.1 R 11

40 ‘Which one of the following pairs is not correctly mathed ?
-~ (1} Revealed Preference Theory : Samuelson
(2) Indifference Curve Analysis : Hicks
~ (3) Cardinal Utility : Joan Robinson
{4 Input output Analysis : Leontief
ﬁwfﬁf@aﬁﬁa?tmm%ﬁgrgﬁﬁaaﬁ%?
() e ST Ry ;S
[2) ST 9% faeAwr ¢ R
(3) HeATETEE ST - S TR
(4) 9T -va Risdwer ;- R

17 - P.T.O.
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Short Answer Questions
Tg ITNT AT

Note : Attempt any five questions. Write answer in 150-200 \irords Each
question carries 16 marks. Answer each question on separate page,
after writing Question Number.

ﬁﬁﬁﬁauﬁ%aﬁ?tﬁﬁmnﬁzﬁmwwo-zmmﬁrﬁ
41T | o= a9 16mﬁw%|qﬁmuﬁwwwww
qe HeEAr et g Y|

01. Examine the role of money in economic growth.

onftier HagRa ® ymr @ iy &1 gdeer At

02. Explain the role of marginal efficiency of capital in Keyneman theory
of employment.

%ﬂ%wm@aﬁ@ﬁﬂmﬁmmﬁgﬁww
faew =i |

03. Critically discuss the marginal conditions of Pareto optinfmality.
ﬁwﬂmmﬂmﬁﬁw-ﬁﬁﬂm

04. Explain the theory of international trade under monopohstlc
competition.

mﬁwnﬁﬁﬁm%aﬁﬁhmﬂwﬁﬂmﬂ%mzﬁw
M |

05. Explain the Leviathan Hypothesis of public expend1ture What are its
limitations ?

mﬁmﬁiﬁmaﬁaﬁmmqﬁmma%a:miﬁﬁmmmﬁ
wT ¥ ?

18
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' 06.

o7.

08.

10.

Explain the importance of eco-system services and functions in
economic development and eradication of poverty.

mwﬁwaﬂmﬁmﬂﬁqﬁﬁuﬁaﬁﬁﬂ%ﬁmﬁwm
& wEE F R i

Critically explain the Swan Model of simultaneous adjustment in
internal and external imbalances.

RIS T agd AHYAT § oF Ty NS B @ a9
SRS STEAT HIRTT |

Explain the role of marginal costing in decision making.

frofg 3 & dara s ) afe @ REEE Hik

How is budget prepared, passed and executed in India ?

mﬁm%ﬁw,ﬁﬁquﬁﬁmﬁaﬁmw%?

Compare the variance of error terms obtained from OLS and MLE
methods.

o7, TH. TH. TU1 O9. Q. §. qafa § o<1 g & e @ geer
Fifda

19 200
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Question No. Page for Short Answer
e dear wYg SEdw ® fg g

20
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Quesﬁon No. : Page for Short Answer
e dem g St & R g
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Question No. . - Page for Short Answer
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duntl;on No. " Page for Short Answer

23 P.T.O.
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Question No. | -~ Page for Short Answer
qe weEr o g Y B Rig gs

24
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Queution No. Page for Short Answer

25 ; P.T.O.
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Question No. Page for Short Answer
0wy g IOE F R g
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11.

12.
13,
14.

Fafear & ferg frd .
(¥ GIRA®T & n9w Sraver g av A%y I6T-0% & G gt ov
Faer WWWM‘-W CLR S ) |
7 e e & 10 e & s @t 3 o i e o ol g g § ok o
mwﬁiimmﬁmmmmmw—mﬁmw
T F et IRem ara a A 5
mwﬂmmm-w&mmwmmﬁmmm
¥ T A -
m~wm#ﬁwmhﬁ?ﬂﬁ#'m?ﬂﬁmﬁ'rmm-uimﬂwm:
HI0T IWT-UW W N} qeaiET AT W
ST STIFAIS T IT-TF A A T -9 W AT Y Py @ w R
m—w%m@ﬂ##mmﬁﬁaﬁwmwﬁﬁ'mhﬁmmﬁ
Wﬁgﬁw-mmﬂwm-mwmm#zwmmm'
T forel | |
wowomawwmmme!#zM(ﬁWﬁ)m
::;gﬁawwwym o w0 smro uw wouT ¥} wfirat ¥ FuReierT wh oAty
! - |
Wm'fwanammmﬁmWWMW T® g
WIS &1 WNhT wr wnn -
m~3ﬁm#‘mﬂwm%mhﬂwmﬁ#n@ﬂnﬁwm*mm#m
Mawwm?mﬁaﬁﬂ&mﬂiwwﬁm-w*miwwﬁ#w
R & s dr d myrwvm 81 |
mm%m%ﬂmm@ﬁwaﬁwﬁlmﬂmqﬁﬁwm
R 3T TF g9 FH YU WA W A I To T @) f
mé’&wmmmmmwaﬂmmtmﬁmwmmm
wwmawmm*mmwmmﬁmwﬁ#mﬁw
5w B} W |
mﬁ?@m—%%wt%wwmm—%%mw
Col |
Qﬂm%mqunmm—wmwﬁwmil
T T O R e vl o @ AR S # oy A gt |
ﬂ&aﬁéwﬂqﬂwﬁﬁﬁam“mmi,ﬁmmmm
g€ F/=, it grmenfy



